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1. (1% points)
Twa players play the following game. I'layer A chooses ane of the thres
apinners a, ¢ below and theo player £ chaoses one of the remalniug lwo
spinners Buth players then apin their spuaer and the ane that Jands on
the higher enmber is declared the winner, Asswning that each apinter
iz nqually bikely to land in any of its 3 regions, woinld you be player 4 ar
player 7 Why?
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2. Huppese the probability of the relay # tu Lhe Eoliowing circuil being closed
Mo F = L2344 I all relays fuaclion indegrendently aml a currant
van pass theough relay ¢ only when it is closed, find

[a] (7 peints) the probability that a current flows betwien A and G;

L poilis]  the conditional probability that the rizlay 1 is closed
Erven a cutrent lows between A4 amt 8.
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A A10 points)
AD wrn containg 10 black and 10 white balls, Draw 4 balts Irom the arn
randomly without replacement. Compute the mean and the vasance of
the number of white balls drawn,

4. {15 poiats)
A line segment of length 1 4s cut ide three segrents Tandoinly. What
s the probalility that ihese thiee sepments can form the thren sides of
a triangle?
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5. Let Xy, Xy, X be independent and identically distribuled standard nur-
mal randorn variables. Let ¥V = X + X, + X, 7 = X, +2X, +2X,.
Find

(a) {3 pointz] HMY = i
(k] [5 points] Vae(Y + Z):
[c] [T printr] K[Z]¥ = 1)
(d} (& poiats] Var(Z|¥ = 1),




